itk
WEATHER TOPICS

11
12
7 VIS
1,500m CIG 800ft
19
19 33kt 37kt
28 CIG 800ft
() | — — | ) m ]
30
20
10
0 s 0
1 3 5 7 9 11 13 15 17 19 21 23 25 27 29 1 3 5 7 9 11 13 15 17 19 21 23 25 27 29
1 2008 11 2 2008 11
14.3 14.5 1
19 10.6 20 10.8 12
68.5mm 17.0mm

18



0.0mm 18

4
80<= 18 24

150<=

348

3608 19
308 18 20

198 1gp 170

168

calm

0.1

10kt

calm00-06 0.1 06-12 0.1
12-18 0 18-24 0.3
15kt 20 20kt

RWYO06R

calm

2008 11 1 30

0.4kt 0.2m/s




kt

calm 0.2 (kt)



10

11

12

280<= 290<
20kt

2 290<=
300= 3 24
3 70
280< 290= 15kt
12 2001
3

| 2007 1 7 . |2003 1 29 9 2005 12 22 9
2007 1 6 7 2003 1 29 2005 12 22
26037kt 29037kt 28037kt
27052kt 28049kt 28048kt
12 2001
3 9
— — —

Fl

o ﬁmmmwmmkkkkm%mmmmmkk‘w%

B,2

D 4yt tyt g5 4,5 5305

1/6

13 2007 1

6 15 7
1m/s

15
2m/s

15 16 17 13 19 20 21 22 23 EEH?Oi 0 03 04 03 05 OF 0F 09 10 11 12 13 14 13

10m/s



2000 1 6 7

13 2007 1 6 15 7 15

11 3

14

18 260= 26kt
17 280 13kt
5,000ft 30kt

1 7 9 12

2007 1 6 23 2007 1 6 24 2007 1 7 1

15 2007 1 6 23 7 1
(0]
im/s 2m/s 10m/s
15 1 6 23 7 1
6 24
5,000ft 40kt 7



23 55
10
3
1
130 140 4hPa
38kt
1
34kt 12
5
12
Metair
funamoto@met.kishou.go.jp
Metair
20 12




‘PENEZAYY BE O QB LIL WD HE(E
9 9 9 61 66 0¢ 0¢ Z
c CP1 e 1€ 09z | 1% 05z | 1t 18 213

- €89 29 611 89 %3 £6101 | £810] g
- 0%C £9 16 [ 0c1__| £020T | €6101 | (8]
- 6 29 F11 89 Z¥1__ | £6101 | €8101 | (Bdn
B 0SE 29 CH1 161 10T | £8101 | %2101 E
T - = 0 0 0 43 066 | 6 00% v 05 6 Tel BOL | GEoOL ] Goo0l 0%
i = - 0 0 0 i3 05z | 1% 052 | _&F 19 T01 29 2€1__| 09101 | 0610 62
o = - 02 G9 G8 3 0LZ | C¢ 0LZ | 1% cg 201 1¥] 9z1__| 00T0T | 0600 82
1@ - - 01 {3 06 12 09 Tc 09 8¢ Gl 18 8C1 LTT__| 2L10T | 2910 1T
- - - — B 91 028 | 8 028 | _&F G9 GOT 171 % 1va01 | 2E201 07
il - - 0 0 0 0¢ 0S¢ | ¢o 092 | 1¥ 79 011 89 Tel | 20201 | 26101 574
L0 - - g 02 09 ¥ 01t | 81 02¢ | 69 6L 6 14 601 | GBIOT | GLIO 72
- - = = = Z1 0S¢ | 6 0.1 | ¥ 79 76 PC 81| v¥¢0l | ¥£c0 (¥4
- - = = = %4 02e | o1 0ze | ot 28 06 I¢] ZIT | 65201 | 8v20 22
SIe| - - G G G 0% 01t | <¢ 00t | 17 15 08 [Sa VI1T | ¥¢¢0T | v1c01 1
- - - = = 0 00f | ¢ 06 | 1t oF 15 801 78 68401 | 66201 02
28 - - G 01 0T LS 09z | 9% 062 | 1t 1y 6C 901 3L 86101 | 88101 61
- - 0 0 0 43 00 | V2 062 | vt 05 FL og %3 €CI0T | £P10] 8T
A - - 0 0 0 %3 06 | L1 008 | Z¥ g9 2l 06 99 16101 | 12101 L
o - B 01 14 g Z1 08t | 6 0ST | 69 8L el 111 99T | 62101 | 61101 o1
oL - = 0 0 0 11 0S¢ | 2 00¢ | 09 €L GOl 007 08T | 22101 | 9101 G
i - = 0 0 0 ] 0% 6 0z 1y 69 BT, G0Z €L1__| 12201 _| 1120 ¥
- = - — = 9 0% 0l 0% ¥y cg Pe 1 6 19T | 84201 | 8120 e1
- = = = = 7 0 8 0 0v 29 T 08 6% £1201_| £020 2
- = = = = i 0¢ T 05 52 cg 6 59 GEl | 18201 | 1220 11
B B = = = 4 01 11 02 532 S 121 GG €61 | G2g0l | G120l 01
oL - - 0 0 0 2 02 1T 0% 6% GG zol P 651 | ¥6101 | ¥SI01 6
1@ - - G GI 0% 72 09 61 09 87 99 111 L1 GET | £8101 | ©L101 8
A - - [ 08 S0T 2% 0¢ 11 0¢ 68 6L 60T 01¢C G8T | |VI0OT | 8€101 L
1@ - - 552 i ¢ 91 02t | 01 0 79 8L RE1 802 8LT | 96101 | 98101 0
- - - - = el 0L 01 08 53 19 GZ1 202 89 12201 | 21501 5
- = = = = 1% 028 | L1 0F 9¢ 15 Z91 602 ¥8T | 68101 | 08101 ¥
;@ - — 0 0 0 61 0¥z | &1 0¥z | 1t 19 €81 G0% ¥61 | 6G101 | ¢r101 3
- - = = = ¥1 0L | 1 092 | oF 19 cG 212 g Z9101 | 2S10 Z
- — = — = 02 0vE | Gl 092 | _¢&¥ 0C CC 661 1L ¥9101 | ¥S10 1

o wo | wwpogx | wwpox (wwrex | W [ [y | WO | By | % % | O.1°0% | O,1°0% | O,1°0% | BdUT 0% | BJUT 0%

EUEY Ue0 | 2& | EE&OT | BUsdT 9¢ 9¢ W %%/
s oo | X¥¥ | X [ #£9 | | b | 0w | B | oY ) Gk | HEE | B | Gk | B O
OER|OEY LR SO AR | RO S TXBY 19 Gk
T & 8002

¥ H i & 8 ¥ &2 W




hPa
QFE
hPa
1/10
(a0
(36 ) 10
1 10

09 ( 12 ) 15 ( 6

W&¢w#¢11?9¢.

@3>

1/10

3m

QNH

1/10

cm

1/10

cm

3m



